
Australian Pump Industries Pty Ltd  |  7 Gladstone Road, Castle Hill NSW 2154  |  P: 02 8865 3500 |  F: 02 9894 4240  |  www.aussiepumps.com.au 

   GMP/NOV21/1 All prices exclude GST 

AUSSIE SPARES DIAGRAM & PARTS LIST 

AUSSIE GMP PUMPS:  

Part Number Qty Description 
List 

price 
5394 1 Washer D.15x28x5  $6 

5583 1 Pump Casing B2ZRM-A  $4,390 
5860 1 Valve Body B3XR-A  $440 
6035 1 Flex. Gasket B 1056  $20 

6014 1 Complete check valve B  $102 

6209 1 Conical Tap ¼” Gas  $7 
6213 1 Conical Tap 1” Gas  $8 

6224 6 T.E. Screw M8x80  $3 

6239 8 Hex. Head Screw M10x25  $5 

6263 7 OEB Screw M 10x30  $3 
6277 2 Screw M6x10  $2 

B2ZPM-A FOR GX630 CYLINDRICAL 1” SHAFT  TYPE Q 
Cat AAZ4 

Part Number Qty Description 
List 

price 

6326 1 Key B 6x6x25  $7 

6341 1 Mech. Seal 32-54-15  $58 

6355 1 Counterface 33-57-10  $41 

7726 6 Copper Washer  $3 

F157  1 Stainless Steel Key M12x1.5  $15 

F319  4 OEB Screw 3/8 –16 UNC " $6 

F786  1 Bracket  $870 

H270  1 Under Plug 2” – Diam.58  $0 

H272  1 Under Plug 3”  $0 

H354  1 Flange B2ZPM-A  $210 

H355  1 Impeller B2ZPM-A  $1,281 

H356  1 Extension Shaft  $847 




